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[_TvC(ebech)=(4.9.0) Fin's] [_TvCebeh=(4.90.1) Fi'nl [_TvCebeh=(4.9.2) [l [_TvCeb.ch=(4.9.3) 5o
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[_TvC(c.b.ch)=(4,9,4) J=/=1 | TVC(c.b.ch)=(4,9.5) == [ TVC(c,b,ch)=(4,9.6) F=**] [ TvC(c,b.ch)=(4,9,7) J='>
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3000 4 3000 - 3000 ] 3000 -
2000 4 2000} 1 20001 ] 2000 1
1000 C = 27.92 [ps/ch ] lo00r C = 27.73 [ps/ch ] 1000:— C =29.37 [ps/ch] — 1000F C = 28.27 [ps/ch ]

L L L L 1 L L L L 1 -|- L L L L 1 L L L L 1 -|- : L 1 L L L L 1 -|- L 1 L L 1 -
0 50 100 50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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[_TVC(c,b.ch)=(4,11,0) F=*/#1 | TVC(c,b.ch)=(4,11,1) F™°'> [ TVC(c,b,ch)=(4,11,2) F'®] [ TVC(c,b,ch)=(4,11,3) f='>
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— e+04 / — e+04 / — e+04/ — e+
[_TVC(c,b.ch)=(4,13,0) F*=/#1 | TVC(c,b.ch)=(4,13,1) [™=°>) [ TVC(c,b,ch)=(4,13,2) F*'*] | TVC(c,b,ch)=(4,13,3) f*='>
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